TRANSCYKO'

TZSE& B L& i# =5

TLIZ 25, 1% 5 12 Pt 48 77 PR ) =8
S

TCITEDIZ |
TBXZ 5l &, i 3 i% o
:;: s B e

TSGHEFEFE T _7
_ - -

P — N
o ' n
F . -.9.5

1SO 9002 Reglstered Company

@ Transtec Heavy Industry Co.,Ltd.
@ Transmission Machinery Co.,Ltd.




‘ L
. & Y [0
- Yoo = 3.5

. T ERE | FHER
P | mpmEms |felcol | ;
| R | mmimmtis beve| E M 2 | 1.5kw | 2HP I ot
| c CM 3 | 2.2KW | 3HP A1 AGMA1
_ v b X XM 5 | 3.7KW | 5HP A2 AGMA2
A3 AGMA3
&) 1
Y1 } _ Y2
-@ b P -slH{{€]
2N ﬁr. = @
LY :
- =]
Y4 Y5
~
N
Y1 v2

Y4 Y5

'ﬁ:ir‘

SR




i 1l e i H LR - i 2 0 i s LA SF TBXRﬁ_ﬁm
r/min N*m kgf*m r/min N*m kgf*m Bﬂﬁﬁréﬁ"ﬁﬁ
0.75kWX4P50Hz 1450r/mi 0.75kWx4P B80Hz 1750r/min
16.6 399 40.6 1.69 20 330 33.7 1.69 1-610-88
14.3 462 47 .1 1.61 17.2 383 39 1.61 1-610-102
11.8 558 56.9 1.3 14.3 462 47.1 1.3 1-610-123
9.63 685 69.9 1.04 11.6 568 57.9 1.04 1-610-151
8.12 813 82.9 1.03 9.8 674 68.7 1.03 1-610-179
7.02 940 95.9 0.91 8.47 779 79.4 0.94 1-611-207
5.84 1130 115 1.01 7.04 938 95.6 1.01 1-611-249
4.76 1390 141 0.93 5.75 1150 117 0.93 1-611-305
1.5kWx4P 50Hz 1450r/min 1.5kWx4P 60Hz 1750r/min
69 191 19.5 212 83.3 158 16.2 212 2-610-21
51.8 255 26 2.12 62.5 211 21.5 2.12 2-610-28
37.7 351 35.7 2.12 38.5 0.43 35 212 2-610-39
31.9 414 42.2 2.12 38.5 343 35 2.12 2-610-46
27.6 478 48.7 2.12 33.3 396 40.4 212 2-610-53
24.4 542 55.2 1.64 29.4 449 45.8 1.64 2-610-60
197 669 68.2 1.52 23.8 555 56.5 1.56 2-610-74
16.6 797 81.2 1.1 20 660 67.3 1.1 2-610-88
14.3 925 94.2 1.39 17.2 766 78.1 1.39 2-610-102
11.8 1120 114 1.58 14.3 925 94.2 1.66 2-611-123
9.63 1370 140 1.27 11.6 1140 116 1.27 2-611-151
8§.12 1630 166 1.09 9.8 1350 137 1.15 2-611-179
7.02 1880 192 1.08 8.47 1560 159 1.08 2-611-207
5.84 2260 % 231 1.62 7.04 1880 191 1.62 2-614-249
4.76 2770 283 1.44 5.75 2300 234 1.54 2-614-305
2.2kWx 4P 50Hz 1450r/min 2.2kW X4P 60Hz 1750r/min
82.9 234 23.8 1.45 100 194 19.7 1.45 3-611-18
69 281 29.6 1.78 83.3 232 23.7 1.78 3-611-21
51.8 374 38.1 1.78 62.5 310 31.6 1.78 3-611-28
37.7 514 52.4 1.78 45.5 426 43.4 1.78 3-611-39
31.9 608 62 1.77 38.5 504 51.3 .77 3-611-46
27.6 701 71.5 1.77 33.3 581 59.2 1.77 3-611-53
24.4 795 81 1.62 29.4 659 671 1.62 3-611-60
19.7 982 100 1.51 23.8 817 82.9 1.51 3-611-74
16.6 1170 119 1.4 20 969 98.7 1.4 3-611-88
14.3 1360 138 1.32 17.2 1120 115 1.32 3-611-102
11.8 1640 167 1.26 14.3 1360 138 1.26 3-611-123
9.63 2010 205 1.19 11.6 1670 170 1.19 3-611-151
8.12 2380 243 1.68 9.8 1980 201 1.68 3-614-179
7.02 2760 243 1.45 8.47 2290 233 1.45 3-614-207
5.84 3320 338 1.19 7.04 2750 280 1.19 3-614-249
4.76 4070 415 1.71 5.75 3370 344 1.77 3-616-305
3.7kW X 4P 50Hz 1450r/min 3.7kWX4P 60Hz 1750r/min
82.9 393 40.1 1.68 100 326 33.2 1.57 5-611-18
69 472 48.1 1.88 483.3 391 39.9 1.57 5-611-21
51.8 629 64.1 1.88 62.5 521 53.1 1.88 5-611-28
37.7 865 88.2 1.6 45.5 717 73.4 1.6 5-611-39
31.9 1020 104 1.6 38.5 847 86.3 1.6 5-611-46
27.6 1180 120 1.58 33.3 977 99.6 1.58 5-611-53
24.4 1340 136 1.53 29.4 1110 113 1.53 5-611-60
19.7 1650 168 1.29 23.8 1370 139 1.32 5-611-74
16.6 1970 200 1.07 20 1630 166 1.07 5-611-88
14.3 2280 232 2.14 17.2 1890 193 2.14 5-614-102
11.8 2750 281 1.69 14.3 2280 232 2.04 5-614-123
9.63 3380 345 1.26 11.6 2800 286 1.36 5-614-151
8.12 4010 409 1 9.8 3320 339 1.14 5-614-179
7.02 4640 473 1.54 8.47 3840 392 1.55 5-616-207
5.84 5580 569 1.28 7.04 4630 472 1.39 5-616-249
4.76 6840 697 1.02 5.75 5670 578 1.05 5-616-305




2N-S*1 B° . 8°
YA A P.C.D¢LA P “E\\ " 272%d
o™ b bl P
g 4-$1*1 ) el '
T =] : v
[]
& <] ”
wi B i g2 =S
| e | ) o
1 il e E
i == ————
q‘}e} & e$7 G E—— L L/ 1
51 d ¢ A
= I T B c | s ‘ L1
i o L=C+CF+L1
M
Qz_ E1
n A-A n 5
4-1 m m 1 I
- — rLele/ T
(%] i = [ —
[} i
B = =
[N
- -
M1 M1 ¢DH8 ‘
M $D1 o \ 2*4-81*1
5 CF| c |bc| E| F |EA4|F1|G1|G2| H|K|M|P|Q@|Q |Q|R|V | 2z |LA|g®
810 211 | 110 | 150 | 100 | 190 | 150 | 160 | 103 | 103 | 242 | 17 | 216 | 5 | 15 | 23 | 35 | 90 | 24 | 35 | 155 | 30
611/612 257 | 130 | 204 | 135 | 220 [ 190 | 195 | 122 | 127 | 282 | 20 | 259 | 5 | 20 | 27 | 35 |105| 32 | 25 | 175 | 30
613/614/615 | 321 | 160 | 230 | 155 | 270 | 220 | 213 | 124 | 151 | 344 | 25 |285| 5 | 25 | 31 | 50 | 130 | 40 | 30 | 212 | 30
616 386 | 190 | 300 | 190 | 324 | 250 | 254 | 145 | 181 | 404 | 28 |340| 7 | 28 | 36 | 85 | 150 | 48 | 40 | 255 | 30
617 428 | 215 | 340 | 220 | 360 | 300 | 283 | 156 | 203 | 454 | 35 |373| 7 | 35 | 38 | 65 | 165 | 50 | 45 | 280 | 225
Ik d D b t D1 D2 M1 m n SxL S1xL N
810 18 55 16 59.3 85 58 85 22 30 M10x17 | M12x20 6
611/612 18 65 18 69.4 100 68 100 27 30 M12x22 | M16x26 6
613/614/615 22 75 20 799 120 78 120 27 37 M16x26 | M20x33 6
816 26 85 22 90.4 140 88.5 145 32 37 M20x33 | M24x40 6
817 33 100 28 106.4 160 104 165 32 37 M20x35 | M24x40 6
33 RSTIE
W (HP) 0.3 0.5 1 2 3 5 8 10 15 20 25 30
L1 176 201 237 270 290 313 357 385 445 530 625 625
J 85 85 114 119 126 147 147 188 188 232 297 297
DM 124 124 148 160 173 212 212 251 251 324 394 394




6 14 00 i L K6 = iy i 1 L 45 s TBXP 47l
r/min N'm | kgf'm r/min N'm | kgf'm 5 0 K5 3 T %
0.75kWx 4P 50Hz 1450r/mi 0.75kWx4P 60Hz 1750r/min
69 95.6 9.75 2.03 83.3 79.2 8.08 2.03 1-609-21
51.8 128 13 2.03 62.5 106 10.8 2.03 1-609-28
37.7 175 17.9 2.03 38.5 145 14.8 2.03 1-609-39
31.9 207 21.1 2.03 38.5 172 17.5 2.03 1-609-46
27.6 239 24.4 1.83 33.3 198 20.2 1.83 1-609-53
24 .4 271 27.6 1.61 29.4 225 22.9 1.61 1-609-60
19.7 335 34.1 1.31 23.8 277 28.3 1.31 1-609-74
16.6 399 1.1 1.11 20 330 33.7 1.1 1-609-88
14.3 462 47.1 1.69 17.2 383 39 1.69 1-610-102
11.8 558 56.9 1.58 14.3 462 47.1 1.58 1-610-123
9.63 685 69.9 1.29 11.6 568 57.9 1.29 1-610-151
8.12 813 82.9 1.03 9.8 674 68.7 1.03 1-610-179
7.02 940 95.9 1.88 8.47 779 79.4 1.88 1-611-207
5.84 1130 141 1.52 7.04 938 95.6 1.52 1-611-249
4.76 1390 160 2.55 5.75 1150 117 2.55 1-614-305
1.5kW X 4P 50Hz 1450r/min 1.5kW X 4P 60Hz 1750r/min
82.9 159 16.2 212 167 79.2 8.08 212 2-610-18
69 191 19.5 212 83.3 132 13.56 2.12 2-610-21
51.8 255 26 212 62.5 158 16.2 212 2-610-28
37.7 351 35.7 2:12 38.5 211 21.5 212 2-610-39
31.9 414 42.2 212 38.5 291 29.6 2.2 2-610-46
27.6 478 48.7 1.85 33.3 343 35 1.85 2-610-53
24.4 542 55.2 1.63 29.4 396 40.4 1.63 2-610-60
19.7 669 68.2 1.32 23.8 449 45.8 1.32 2-610-74
16.6 797 81.2 1.1 20 555 56.5 1.11 2-610-88
14.3 925 94.2 1.91 17.2 660 67.3 1.91 2-611-102
11.8 1120 114 1.59 14.3 766 78.1 1.59 2-611-123
9.63 1370 140 1.29 11.6 925 94.2 1.29 2-611-151
8.12 1630 166 2.18 9.8 1140 116 2.18 2-614-179
7.02 1880 192 1.88 8.47 1350 137 1.88 2-614-207
5.84 2260 231 1.56 7.04 1560 169 1.56 2-614-249
4.76 2770 283 1.28 5.75 1880 191 1.28 2-614-305
2 2kW X 4P 50Hz 1450r/min 2.2kW X 4P 60Hz 1750r/min
82.9 234 23.8 2.82 167 116 11.8 2.82 3-611-18
69 281 28.6 3.16 83.3 194 19.7 3.16 3-611-21
-51.8 374 38.1 3.16 62.5 232 23.7 3.16 3-611-28
37.7 514 52.4 2.69 38.5 310 31.6 2.69 3-611-39
31.9 608 62 2.69 38.5 426 43.4 2.69 3-611-46
27.6 701 1.5 2.52 33.3 504 51.3 2.52 3-611-53
24.4 795 81 2.23 29.4 581 59.2 2.23 3-611-60
19.7 982 100 1.8 23.8 659 67.1 1.8 3-611-74.
16.6 1170 119 1.51 20 814 82.9 1.51 3-611-88
14.3 1360 138 1.31 17.2 969 98.7 1.31 3-611-102
1.8 1640 167 1.08 14.3 1120 115 1.08 3-611-123
9.63 2010 205 1.76 11.6 1360 138 1.76 3-614-151
8.12 2380 243 1.48 9.8 1670 170 1.48 3-614-179
7.02 3320 281 1.28 8.47 1980 201 1.28 3-614-207
5.84 4070 338 1.07 7.04 2290 280 1.07 3-614-249
4.76 4610 415 1.51 5.75 2750 344 1.51 3-616-305
3.7kWx4P 50Hz 1450r/min ' 3.7kW X 4P 60Hz 1750r/min
82.9 393 40.1 1.68 167 326 33.2 1.68 5-611-11
69 472 48.1 1.88 83.3 391 39.9 1.88 5-611-21
51.8 629 64.1 1.88 62.5 521 631 1.88 5-611-28
37.7 865 88.2 1.6 38.5 717 734 1.6 5-611-39
31.9 1020 104 1.6 38.5 847 86.3 1.6 5-611-46
27.6 1180 120 1.5 33.3 977 - 99.6 1.5 5-611-53
24.4 1340 136 1.32 29.4 1110 113 1.32 5-611-60
19.7 1650 168 1.07 23.8 1370 139 1.07 5-611-74
16.6 1970 200 0.9 20 1630 166 0.9 5-611-88
14.3 2280 232 1.55 17.2 1890 193 1.65 5-614-102
11.8 2750 281 1.29 14.3 2280 232 1.29 3-611-123
9.63 3380 345 1.05 11.6 2800 286 1.05 3-614-151
8.12 4010 409 1.53 9.8 3320 339 1.53 5-616-179
7.02 4640 473 1.32 8.47 3840 392 1.32 5-616-207
5.84 5580 569 1.1 7.04 4630 472 1.1 5-616-249
4.76 6840 697 1.26 5.75 5670 578 1.25 5-617-305




b |-
N-5X1 | m m
LN , \ -74 L
| he £ | S ( _\ B =
RS , = =) =)
G A | \\ = =t
- |
£ M1 M1
[ d)q?;B" " L M
] S0 | M
|l 2X3-8X1 M
A-A
NN }
IR, .
| L N
l H i Nl o
A |2
.
=
— 0O
=
/ 1o Q
i S K T J = -
¥ 1 K B
P11 | Z o B l
\ 3 L1
! J | \2-d ez CF ! ‘ ? l
Q . F Q ] L=P1+CF+L1 |
Ik GE LG BE| E [F NETLEL |06 || e LN MR Rt et [ Rl Nt v e |z A s
609 166 |107.5| 150 | 157 | 180 | 140 | 56 | 119 |301.5| 15 | 217 | 120 | 3|5 |155| 27 | 73 | 26 | 26 | - | 20 | 120 o
610 195 | 117 | 150 |163.5| 190 | 150 | 66 |130.5(322.5| 20 | 239|134 | 3 |5 |215| 20 | 90 | 28 | 28 | - | 20 | 155 | 30
611/612 | 228 |144.5) 204 |202.5| 220 | 190 | 86 |162.5| 409 | 20 | 296 | 160 | 3 |5 | 35 | 31 | 105| 34 | 32 | - | 25 | 175 | 30
613/614/615| 292 | 171 | 230 | 242 | 270 | 220 | 97 |192.5|4785| 25 [ 346 | 192 | 3 | 5| 35 | 41 | 130|101 | 52 | 72 | 30 | 212 | 30
616 342 | 214 | 300 | 293 | 324 [ 250 | 114 | 244 | 608 | 32 | 436|218 |5 | 7| 51 | 45 | 150 | 92 | 60 | 92 | 35 | 255 | 30
617 376 | 240 | 340 | 332 | 360 | 300|127 | 272 | 682 | 38 | 490 [ 238 | 5| 7| 60 | 50 | 165| 97 | 62 | 100 | 45 | 280 | 23
ik d D b t D1 D2 M1 m n sxl S1xL N
609 14 40 12 433 65 43 57 1.95 24 | M10x20 | M10x20 4
610 18 55 16 59.3 85 58 63 2.2 30 | M10x20 | M12x22 8
611/612 18 65 18 | 694 100 68 75 27 30 | M12x22 | M16x26 8
613/614/615 22 75 20 79.9 110 78 90 27 37 | M16x30 | M20x35 6
616 26 85 22 90.4 130 89 100 3.2 37 | M20x35 | M24x40 6
617 33 100 28 106.4 150 104 110 32 | 87 | M20x35 | M24x40 8
SR HE
HE (HP) 0.1 0.3 0.5 1 2 3 5 8 10 15 20 25 30
L1 138 180 205 241 275 298 328 372 390 450 530 625 625
J 85 85 85 114 119 126 147 147 188 188 232 297 297
DM 119 124 124 148 | 160 \ 173 ‘ 212 | 212 251 251 324 394 394 |




